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1.A report runs, and is 433 pages long, with 19,010 rows. Many of the rows are blank. The report author
uses a filter function to filter nulls, and runs the report again. The result is 143 pages, with 6273 rows, and
none of the rows are blank. What filtering style did the report author decide to use?

A.Conventional

B.Dimensional

C.Relational

D.Functional

Answer:B

2.What is a key difference between the total function and the aggregate function?

A.The aggregate function can only summarize within a set, and the total function can accept separate
members.

B.The aggregate function is dimensional, and the total function is relational.

C.The aggregate function will summarize only the currentMeasure, and the total function will summarize
any specified measure.

D.The aggregate function follows the rollup rules of the measure defined in the data source, and the total
function adds the total of the specified measure.

Answer:D

3.A report author uses an OLAP cube to create a crosstab with Revenue as a measure, the Product line
level in the rows, and the year members (2004-2007) in the columns. How can the report author efficiently
determine the difference in revenue between the years 2005 and 20067

A.Determine MUNSs for the years 2005 and 2006, and then create an expression using the MUNSs.
B.Create a new column as a query calculation, and create the dimensional expression [2006]-[2005].
C.Create a set of the 2005 and 2006 members and aggregate it.

D.Ask the modeler to create a calculated category in Transformer and then use it directly.

Answer:B

4.The following expression is used to focus OLAP data in the rows of a report:
filter([sales_and_marketing].[Order method].[Order method].[Order method type], [Revenue]>150000000).
Which of the following statements describes the purpose of the expression?

Revenue 2004 2005 2006 2007
Telgphone | 178, 793, 560,36 107,150,204.09  37,199,P42.60 1783507361
Gajer gk | 101,072, 721,10 79.721,574.37  FLOIG650.38  55,481,9%6.15
et | 473, 774, 969,65 BE{, 315, 7768 1,379 714, 170,77 1,017,474 527,30
Emal | 9540779571 44.315.686.47  23.701,042.57 16,470, 315.95

A.To return the set of members whose revenue is less than 150000000 for any year.

B.To return the set of members whose revenue is greater than 150000000 for the sum of the opposite
edge.

C.To filter the cell values by subtracting 150000000 from the revenue for each year and order method
type.

D.To filter the years to show those having revenues greater than 150000000 by order method type.
Answer:B

5.What dimensional function is used to return the members on the level below the Product line level?
A.Tail

B.Lag
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C.Descendants
D.BottomCount
Answer:C
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